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= A2, o S x 9] grol 2 5 sle 22?
@ 1 @ 2 ® 3 @4 ® 5

VI20xy = /23 x 3 X 5 X xy = 2/30xy

xy =30

(x, y) = (1, 30), (2, 15), (3, 10), (5, 6),
(6, 5), (10, 3), (15, 2), (30, 1)




2.

a=-V3,b= V5L W, a(a-2b)-3b> 2 27

D -18-2+5 @ -18+42+15 @—12+2\/E
@ 18-2+/15 ® 18+ 215

(FA) =3-2x(-V3Vh) -3x5=-12+2V15




3. oA ax?-Tx+b7F(2x-1) & (3x-2) = A5E 7AW, ab 9
& o

® 4 @ 7 @2 o1 o1

(2x—1)(3x—2) = 6x% — Tx + 2
=ax>-Tx+b

La=06,b=2

Soab =12




4.

x+ta=2 x—a=7L M, x3-a®+ax? - a’x =7

® 14 @ 20 ® 24 @28

1

® 32

=(x+a)(x+a)(x-a)
= (x+a)*(x-a)
=22x7=28




© dr13 @4x ® 4x-13
@ 2x*>-13 B 242 +5

X~ 1822 4 36= (x2 = 9)(x" ~4)
=(x+3)(x-3)(x+2)(x-2)
- (PR ASE )

—x+34+x—-3+x+2+x—2=4x




6. x=-1+V29 0 x2-2x—15=0 9 Zt2?

D 10-4+2 @ -10+4V2 @-10-4@
@ 10+ 4V2 ® 10

B

¥ =2x-15 = (x-5)(x+ 3)
=(-1+ V2-5)(-1+ V2 +3)
=(V2-6)(V2+2)
=2-42-12
=-10-4v2




